

RADIUS PROBLEMS FOR CERTAIN SUBCLASSES OF MEROMORPHIC FUNCTIONS

B.A. FRASIN

ABSTRACT. For analytic functions $f(z)$ in the punctured open unit disk \mathbb{D} , subclasses $\mathfrak{M}(\beta_1, \beta_2, \beta_3; \lambda)$, $\Sigma_\theta^*(\alpha)$ and $\Sigma_\theta(\alpha, \beta)$ are introduced. The object of the present paper is to discuss some interesting properties of functions $f(z)$ associated with classes $\mathfrak{M}(\beta_1, \beta_2, \beta_3; \lambda)$. Radius problems for the classes $\Sigma_\theta^*(\alpha)$ and $\Sigma_\theta(\alpha, \beta)$ are also obtained.

2000 *Mathematics Subject Classification*: 30C45.

1. INTRODUCTION AND DEFINITIONS

Let Σ denote the class of functions of the form

$$f(z) = \frac{1}{z} + \sum_{n=1}^{\infty} a_n z^n, \quad (1)$$

which are analytic in the punctured unit disk $\mathbb{D} = \{z \in \mathbb{C} : 0 < |z| < 1\}$. We also write by \mathbb{U} the open unit disk.

A function $f(z)$ in Σ is said to be meromorphically starlike of order α if and only if

$$\Re \left\{ -\frac{zf'(z)}{f(z)} \right\} > \alpha \quad (z \in \mathbb{U}), \quad (2)$$

for some $\alpha (0 \leq \alpha < 1)$. We denote by $\Sigma^*(\alpha)$ the class of all meromorphically starlike functions of order α .

The class $\Sigma^*(\alpha)$ and various other subclasses of Σ have been studied rather extensively by Nehari and Netanyahu [7], Clunie [3], Pommerenke [8, 9], Miller [6], Royster [10], Cho et al.[2], Aouf [1] and others.

A function $f(z)$ in Σ is said to be in the class $\Sigma(\alpha, \beta)$ if and only if

$$\Re \left\{ -\frac{zf'(z)}{f(z)} \right\} > \beta \left| \frac{zf'(z)}{f(z)} + 1 \right| + \alpha \quad (z \in \mathbb{U}), \quad (3)$$

for some $\alpha(0 \leq \alpha < 1)$ and $\beta \geq 0$. Clearly, $\Sigma(\alpha, 0) = \Sigma^*(\alpha)$.

Let $\mathfrak{M}(\beta_1, \beta_2, \beta_3; \lambda)$ be the subclass of Σ consisting of all functions $f(z)$ satisfying

$$|\beta_1(z^2 f'(z) + 1) + \beta_2 z(z^2 f'(z))' + \beta_3 z^2(z^2 f'(z))''| \leq \lambda \quad (z \in \mathbb{U}) \quad (4)$$

for some complex numbers β_1, β_2 and β_3 , and for some real $\lambda > 0$.

Example 1.1 Let us consider the function $f_\gamma(z)$ given by

$$f_\gamma(z) = \frac{1 - z + z(1 + z)^\gamma}{z}, (\gamma \in \mathbb{R}).$$

Then we have

$$\begin{aligned} & |\beta_1(z^2 f'_\gamma(z) + 1) + \beta_2 z(z^2 f'_\gamma(z))' + \beta_3 z^2(z^2 f'_\gamma(z))''| \\ &= \left| \sum_{n=1}^{\infty} n\gamma n(\beta_1 + (n+1)\beta_2 + n(n+1)\beta_3)z^{n+1} \right|, \end{aligned}$$

where

$$\gamma n = \frac{\gamma(\gamma-1)(\gamma-2)\dots(\gamma-n+1)}{n!}.$$

Therefore, if $\gamma = 1$, then

$$|\beta_1(z^2 f'_1(z) + 1) + \beta_2 z(z^2 f'_1(z))' + \beta_3 z^2(z^2 f'_1(z))''| = |(\beta_1 + 2\beta_2 + 2\beta_3)z^2| \leq |\beta_1| + 2|\beta_2| + 2|\beta_3|.$$

This implies that $f_1(z) \in \mathfrak{M}(\beta_1, \beta_2, \beta_3; \lambda)$ for $\lambda \geq |\beta_1| + 2|\beta_2| + 2|\beta_3|$. If $\gamma = 2$, then

$$\begin{aligned} & |\beta_1(z^2 f'_2(z) + 1) + \beta_2 z(z^2 f'_2(z))' + \beta_3 z^2(z^2 f'_2(z))''| \\ &= |2(\beta_1 + 2\beta_2 + 2\beta_3)z^2 + 2(\beta_1 + 3\beta_2 + 6\beta_3)z^3| \leq 4|\beta_1| + 10|\beta_2| + 16|\beta_3|. \end{aligned}$$

Therefore, $f_2(z) \in \mathfrak{M}(\beta_1, \beta_2, \beta_3; \lambda)$ for $\lambda \geq 4|\beta_1| + 10|\beta_2| + 16|\beta_3|$. Further, if $\gamma = 3$, then we have

$$\begin{aligned} & |\beta_1(z^2 f'_3(z) + 1) + \beta_2 z(z^2 f'_3(z))' + \beta_3 z^2(z^2 f'_3(z))''| \\ &= |3(\beta_1 + 2\beta_2 + 2\beta_3)z^2 + 6(\beta_1 + 3\beta_2 + 6\beta_3)z^3 + 3(\beta_1 + 4\beta_2 + 12\beta_3)z^4| \\ &\leq 12|\beta_1| + 36|\beta_2| + 90|\beta_3|. \end{aligned}$$

Thus, $f_3(z) \in \mathfrak{M}(\beta_1, \beta_2, \beta_3; \lambda)$ for $\lambda \geq 12|\beta_1| + 36|\beta_2| + 90|\beta_3|$.

Now, let Σ_θ denote the subclass of Σ consisting of functions $f(z)$ with

$$a_n = |a_n| e^{i(n+1)\theta} \quad (n = 1, 2, \dots).$$

Also, we introduce the subclasses $\Sigma_\theta^*(\alpha)$ and $\Sigma_\theta(\alpha, \beta)$ of Σ_θ as follows:

$$\Sigma_\theta^*(\alpha) = \Sigma_\theta \cap \Sigma^*(\alpha) \quad \text{and} \quad \Sigma_\theta(\alpha, \beta) = \Sigma_\theta \cap \Sigma(\alpha, \beta).$$

Radius problems for some subclasses of analytic functions in the open unit disk \mathbb{U} and also for some subclasses of meromorphic functions in the punctured unit disk \mathbb{D} have been considered by several authors (see, for example, [4, 5, 11]). In this paper, we proved some properties of the subclass $\mathfrak{M}(\beta_1, \beta_2, \beta_3; \lambda)$ of meromorphic functions. Radius problems for the classes $\Sigma_\theta^*(\alpha)$ and $\Sigma_\theta(\alpha, \beta)$ are also derived.

2. PROPERTIES OF THE CLASS $\mathfrak{M}(\beta_1, \beta_2, \beta_3; \lambda)$

We first prove

Theorem 2.1 If $f(z) \in \Sigma$ satisfies

$$\sum_{n=1}^{\infty} n(|\beta_1| + (n+1)|\beta_2| + n(n+1)|\beta_3|) |a_n| \leq \lambda \quad (5)$$

for some complex numbers β_1, β_2 and β_3 , and for some real $\lambda > 0$, then $f(z) \in \mathfrak{M}(\beta_1, \beta_2, \beta_3; \lambda)$.

Proof. We observe that

$$\begin{aligned} & \left| \beta_1(z^2 f'(z) + 1) + \beta_2 z(z^2 f'(z))' + \beta_3 z^2(z^2 f'(z))'' \right| \\ &= \left| \sum_{n=1}^{\infty} n(\beta_1 + (n+1)\beta_2 + n(n+1)\beta_3) a_n z^{n+1} \right| \\ &\leq \sum_{n=1}^{\infty} n(|\beta_1| + (n+1)|\beta_2| + n(n+1)|\beta_3|) |a_n| |z|^{n+1} \\ &< \sum_{n=1}^{\infty} n(|\beta_1| + (n+1)|\beta_2| + n(n+1)|\beta_3|) |a_n|. \end{aligned}$$

Therefore, if $f(z)$ satisfies the inequality (5), then $f(z) \in \mathfrak{M}(\beta_1, \beta_2, \beta_3; \lambda)$.

Next, we prove

Theorem 2.2 If $f(z) \in \mathfrak{M}(\beta_1, \beta_2, \beta_3; \lambda)$ with $\arg \beta_1 = \arg \beta_2 = \arg \beta_3 = \phi$ and $a_n = |a_n| e^{i((n+1)\theta - \phi)}$ ($n = 1, 2, \dots$), then we have

$$\sum_{n=1}^{\infty} n(|\beta_1| + (n+1)|\beta_2| + n(n+1)|\beta_3|) |a_n| \leq \lambda.$$

Proof. Let $f(z) \in \mathfrak{M}(\beta_1, \beta_2, \beta_3; \lambda)$ with $\arg \beta_1 = \arg \beta_2 = \arg \beta_3 = \phi$ and $a_n = |a_n| e^{i((n+1)\theta - \phi)}$ ($n = 1, 2, \dots$). Then we see that

$$\begin{aligned} & \left| \beta_1(z^2 f'(z) + 1) + \beta_2 z(z^2 f'(z))' + \beta_3 z^2(z^2 f'(z))'' \right| \\ &= \left| \sum_{n=1}^{\infty} n(\beta_1 + (n+1)\beta_2 + n(n+1)\beta_3) a_n z^{n+1} \right| \\ &= \left| \sum_{n=1}^{\infty} n(|\beta_1| + (n+1)|\beta_2| + n(n+1)|\beta_3|) |a_n| e^{i(n+1)\theta} z^{n+1} \right| \leq \lambda \end{aligned}$$

for all $z \in \mathbb{U}$. Let us consider a point $z \in \mathbb{U}$ such that $z = |z| e^{-i\theta}$. Then we have

$$\sum_{n=1}^{\infty} n(|\beta_1| + (n+1)|\beta_2| + n(n+1)|\beta_3|) |a_n| |z|^{n+1} \leq \lambda.$$

Letting $|z| \rightarrow 1^-$, we obtain

$$\sum_{n=1}^{\infty} n(|\beta_1| + (n+1)|\beta_2| + n(n+1)|\beta_3|) |a_n| \leq \lambda.$$

Corollary 2.3 If $f(z) \in \mathfrak{M}(\beta_1, \beta_2, \beta_3; \lambda)$ with $\arg \beta_1 = \arg \beta_2 = \arg \beta_3 = \phi$ and $a_n = |a_n| e^{i((n+1)\theta - \phi)}$ ($n = 1, 2, \dots$), then we have

$$|a_n| \leq \frac{\lambda}{n(|\beta_1| + (n+1)|\beta_2| + n(n+1)|\beta_3|)} \quad (n = 1, 2, \dots).$$

Example 2.4 Let us consider the function $f(z) \in \mathfrak{M}(\beta_1, \beta_2, \beta_3; \lambda)$ with $\arg \beta_1 = \arg \beta_2 = \arg \beta_3 = \phi$ and

$$a_n = \frac{\lambda e^{i((n+1)\theta - \phi)}}{n^2(n+1)(|\beta_1| + (n+1)|\beta_2| + n(n+1)|\beta_3|)}, \quad (n = 1, 2, \dots).$$

Then we see that

$$\begin{aligned} \sum_{n=1}^{\infty} n(|\beta_1| + (n+1)|\beta_2| + n(n+1)|\beta_3|) |a_n| &= \lambda \sum_{n=1}^{\infty} \frac{1}{n(n+1)} \\ &= \lambda \sum_{n=1}^{\infty} \left(\frac{1}{n} - \frac{1}{n+1} \right) = \lambda. \end{aligned}$$

Corollary 2.5 If $f(z) \in \mathfrak{M}(\beta_1, \beta_2, \beta_3; \lambda)$ with $\arg \beta_1 = \arg \beta_2 = \arg \beta_3 = \phi$ and $a_n = |a_n| e^{i((n+1)\theta - \phi)}$ ($n = 1, 2, \dots$), then we have

$$\frac{1}{|z|} - \sum_{n=1}^j |a_n| |z|^n - A_j |z|^{j+1} \leq |f(z)| \leq \frac{1}{|z|} + \sum_{n=1}^j |a_n| |z|^n + A_j |z|^{j+1}$$

with

$$A_j = \frac{\lambda - \sum_{n=1}^j n(|\beta_1| + (n+1)|\beta_2| + n(n+1)|\beta_3|) |a_n|}{(j+1)(|\beta_1| + (j+2)|\beta_2| + (j+1)(j+2)|\beta_3|)}$$

and

$$\frac{1}{|z|^2} - \sum_{n=1}^j n |a_n| |z|^n - B_j |z|^j \leq |f'(z)| \leq \frac{1}{|z|^2} + \sum_{n=1}^j n |a_n| |z|^n + B_j |z|^j$$

with

$$B_j = \frac{\lambda - \sum_{n=1}^j n(|\beta_1| + (n+1)|\beta_2| + n(n+1)|\beta_3|) |a_n|}{(|\beta_1| + (j+2)|\beta_2| + (j+1)(j+2)|\beta_3|)}.$$

Proof. In view of Theorem 2.1, we know that

$$\begin{aligned} & \sum_{n=j+1}^{\infty} n(|\beta_1| + (n+1)|\beta_2| + n(n+1)|\beta_3|) |a_n| \\ & \leq \lambda - \sum_{n=1}^j n(|\beta_1| + (n+1)|\beta_2| + n(n+1)|\beta_3|) |a_n|. \end{aligned}$$

Further, we note that

$$\begin{aligned} & (j+1)(|\beta_1| + (j+2)|\beta_2| + (j+1)(j+2)|\beta_3|) \sum_{n=j+1}^{\infty} |a_n| \\ & \leq \sum_{n=j+1}^{\infty} n(|\beta_1| + (n+1)|\beta_2| + n(n+1)|\beta_3|) |a_n|. \end{aligned}$$

Therefore, we see that

$$\sum_{n=j+1}^{\infty} |a_n| \leq \frac{\lambda - \sum_{n=1}^j n(|\beta_1| + (n+1)|\beta_2| + n(n+1)|\beta_3|) |a_n|}{(j+1)(|\beta_1| + (j+2)|\beta_2| + (j+1)(j+2)|\beta_3|)} = A_j.$$

Thus, we have

$$\begin{aligned} |f(z)| &\leq \frac{1}{|z|} + \sum_{n=1}^j |a_n| |z|^n + \sum_{n=j+1}^{\infty} |a_n| |z|^n \\ &\leq \frac{1}{|z|} + \sum_{n=1}^j |a_n| |z|^n + A_j |z|^{j+1} \end{aligned}$$

and

$$\begin{aligned} |f(z)| &\geq \frac{1}{|z|} - \sum_{n=1}^j |a_n| |z|^n - \sum_{n=j+1}^{\infty} |a_n| |z|^n \\ &\geq \frac{1}{|z|} - \sum_{n=1}^j |a_n| |z|^n - A_j |z|^{j+1} |z|^{j+1}. \end{aligned}$$

Next, we observe that

$$\begin{aligned} &(|\beta_1| + (j+2)|\beta_2| + (j+1)(j+2)|\beta_3|) \sum_{n=j+1}^{\infty} n |a_n| \\ &\leq \sum_{n=j+1}^{\infty} n(|\beta_1| + (n+1)|\beta_2| + n(n+1)|\beta_3|) |a_n| \\ &\leq \lambda - \sum_{n=1}^j n(|\beta_1| + (n+1)|\beta_2| + n(n+1)|\beta_3|) |a_n|, \end{aligned}$$

that is, that

$$\sum_{n=j+1}^{\infty} n |a_n| \leq \frac{\lambda - \sum_{n=1}^j n(|\beta_1| + (n+1)|\beta_2| + n(n+1)|\beta_3|) |a_n|}{(|\beta_1| + (j+2)|\beta_2| + (j+1)(j+2)|\beta_3|)} = B_j.$$

Therefore, we obtain that

$$\begin{aligned} |f'(z)| &\leq \frac{1}{|z|^2} + \sum_{n=1}^j n |a_n| |z|^{n-1} + \sum_{n=j+1}^{\infty} n |a_n| |z|^{n-1} \\ &\leq \frac{1}{|z|^2} + \sum_{n=1}^j n |a_n| |z|^{n-1} + B_j |z|^j \end{aligned}$$

and

$$\begin{aligned} |f'(z)| &\geq \frac{1}{|z|^2} - \sum_{n=1}^j n |a_n| |z|^{n-1} - \sum_{n=j+1}^{\infty} n |a_n| |z|^{n-1} \\ &\geq \frac{1}{|z|^2} - \sum_{n=1}^j n |a_n| |z|^{n-1} - B_j |z|^j. \end{aligned}$$

3. RADIUS PROBLEMS FOR THE CLASS $\Sigma_{\theta}^*(\alpha)$

To obtain the radius problem for the class $\Sigma_{\theta}^*(\alpha)$, we need that following lemma.

Lemma 3.1 *If $f(z) \in \Sigma_{\theta}^*(\alpha)$, then*

$$\sum_{n=1}^{\infty} (n + \alpha) |a_n| \leq 1 - \alpha. \quad (6)$$

Proof. Let $f(z) \in \Sigma_{\theta}^*(\alpha)$. Then, we have

$$\Re \left\{ \frac{-z f'(z)}{f(z)} \right\} = \Re \left\{ \frac{1 - \sum_{n=1}^{\infty} n a_n z^{n+1}}{1 + \sum_{n=1}^{\infty} a_n z^{n+1}} \right\} = \Re \left\{ \frac{1 - \sum_{n=1}^{\infty} n |a_n| e^{i(n+1)\theta} z^{n+1}}{1 + \sum_{n=1}^{\infty} |a_n| e^{i(n+1)\theta} z^{n+1}} \right\} > \alpha$$

for all $z \in \mathbb{U}$. Let us consider a point $z \in \mathbb{U}$ such that $z = |z| e^{-i\theta}$. Then we have

$$\frac{1 - \sum_{n=1}^{\infty} n |a_n| |z|^{n+1}}{1 + \sum_{n=1}^{\infty} |a_n| |z|^{n+1}} > \alpha.$$

Letting $|z| \rightarrow 1^-$, we obtain

$$1 - \sum_{n=1}^{\infty} n |a_n| \geq \alpha \left(1 + \sum_{n=1}^{\infty} |a_n| \right),$$

which is equivalent to the inequality (6).

From the above lemma, we immediately have

Corollary 3.2 *If $f(z) \in \Sigma_{\theta}^*(\alpha)$, then*

$$|a_n| \leq \frac{1 - \alpha}{n + \alpha} \quad (n = 1, 2, \dots).$$

Remark 3.3 If $f(z) \in \Sigma_{\theta}^*(\alpha)$, then

$$\sum_{n=1}^{\infty} n |a_n| \leq \sum_{n=1}^{\infty} (n + \alpha) |a_n| \leq 1 - \alpha.$$

Applying Theorem 2.1 and Lemma 3.1, we derive

Theorem 3.4 If $f(z) \in \Sigma_{\theta}^*(\alpha)$ and $\delta \in \mathbb{C}$ ($0 < |\delta| < 1$). Then the function $\delta f(\delta z) \in \mathfrak{M}(\beta_1, \beta_2, \beta_3; \lambda)$ for ($0 < |\delta| \leq |\delta_0(\lambda)|$), where $|\delta_0(\lambda)|$ is the smallest positive root of the equation

$$\begin{aligned} & \frac{|\delta|^2 |\beta_1|}{1 - |\delta|^2} \sqrt{1 - \alpha} + \frac{|\delta|^2 |\beta_2| \sqrt{2(|\delta|^2 + 2)}}{(1 - |\delta|^2)^2} \sqrt{1 - \alpha} \\ & + \frac{2|\delta|^2 |\beta_3| \sqrt{2|\delta|^6 + 15|\delta|^4 + 12|\delta|^2 + 1}}{(1 - |\delta|^2)^3} \sqrt{1 - \alpha} \\ & = \lambda. \end{aligned}$$

in $0 < |\delta| < 1$.

Proof. For $f(z) \in \Sigma_{\theta}^*(\alpha)$, we see that

$$\delta f(\delta z) = \frac{1}{z} + \sum_{n=1}^{\infty} \delta^{n+1} a_n z^n$$

and

$$\sum_{n=1}^{\infty} n |a_n|^2 \leq 1 - \alpha.$$

To show that $\delta f(\delta z) \in \mathfrak{M}(\beta_1, \beta_2, \beta_3; \lambda)$, we need to prove that

$$\sum_{n=1}^{\infty} n(|\beta_1| + (n + 1)|\beta_2| + n(n + 1)|\beta_3|) |\delta|^{n+1} |a_n| \leq \lambda.$$

Applying Cauchy-Schwarz inequality, we note that

$$\begin{aligned} & \sum_{n=1}^{\infty} n(|\beta_1| + (n + 1)|\beta_2| + n(n + 1)|\beta_3|) |\delta|^{n+1} |a_n| \\ & \leq |\delta| |\beta_1| \left(\sum_{n=1}^{\infty} n |\delta|^{2n} \right)^{\frac{1}{2}} \left(\sum_{n=1}^{\infty} n |a_n|^2 \right)^{\frac{1}{2}} \end{aligned}$$

$$\begin{aligned}
 & + |\delta| |\beta_2| \left(\sum_{n=1}^{\infty} n(n+1)^2 |\delta|^{2n} \right)^{\frac{1}{2}} \left(\sum_{n=1}^{\infty} n |a_n|^2 \right)^{\frac{1}{2}} \\
 & + |\delta| |\beta_3| \left(\sum_{n=1}^{\infty} n^3(n+1)^2 |\delta|^{2n} \right)^{\frac{1}{2}} \left(\sum_{n=1}^{\infty} n |a_n|^2 \right)^{\frac{1}{2}} \\
 \leq & |\delta| |\beta_1| \left(\sum_{n=1}^{\infty} n |\delta|^{2n} \right)^{\frac{1}{2}} \sqrt{1-\alpha} + |\delta| |\beta_2| \left(\sum_{n=1}^{\infty} n(n+1)^2 |\delta|^{2n} \right)^{\frac{1}{2}} \sqrt{1-\alpha} \\
 & + |\delta| |\beta_3| \left(\sum_{n=1}^{\infty} n^3(n+1)^2 |\delta|^{2n} \right)^{\frac{1}{2}} \sqrt{1-\alpha}. \tag{7}
 \end{aligned}$$

For $|x| < 1$, it is easy to see that

$$\sum_{n=1}^{\infty} nx^n = \frac{x}{(1-x)^2}, \tag{8}$$

$$\sum_{n=1}^{\infty} n(n+1)^2 x^n = \frac{2x^2 + 4x}{(1-x)^4}, \tag{9}$$

and

$$\sum_{n=1}^{\infty} n^3(n+1)^2 x^n = \frac{8x^4 + 60x^3 + 48x^2 + 4x}{(1-x)^6}. \tag{10}$$

By using (8)-(10) with $|\delta|^2 = x$, from (7), we obtain

$$\begin{aligned}
 & \sum_{n=1}^{\infty} n(|\beta_1| + (n+1)|\beta_2| + n(n+1)|\beta_3|) |\delta|^{n+1} |a_n| \\
 \leq & \frac{|\delta|^2 |\beta_1|}{1-|\delta|^2} \sqrt{1-\alpha} + \frac{|\delta|^2 |\beta_2| \sqrt{2(|\delta|^2+2)}}{(1-|\delta|^2)^2} \sqrt{1-\alpha} \\
 & + \frac{2|\delta|^2 |\beta_3| \sqrt{2|\delta|^6 + 15|\delta|^4 + 12|\delta|^2 + 1}}{(1-|\delta|^2)^3} \sqrt{1-\alpha}.
 \end{aligned}$$

Now, let us consider the complex number δ ($0 < |\delta| < 1$) such that

$$\frac{|\delta|^2 |\beta_1|}{1-|\delta|^2} \sqrt{1-\alpha} + \frac{|\delta|^2 |\beta_2| \sqrt{2(|\delta|^2+2)}}{(1-|\delta|^2)^2} \sqrt{1-\alpha}$$

$$\begin{aligned}
 & + \frac{2|\delta|^2|\beta_3|\sqrt{2|\delta|^6+15|\delta|^4+12|\delta|^2+1}}{(1-|\delta|^2)^3}\sqrt{1-\alpha} \\
 & = \lambda.
 \end{aligned}$$

If we define the function $h(|\delta|)$ by

$$\begin{aligned}
 h(|\delta|) & = |\delta|^2|\beta_1|(1-|\delta|^2)^2\sqrt{1-\alpha} + |\delta|^2|\beta_2|(1-|\delta|^2)\sqrt{2(|\delta|^2+2)(1-\alpha)} \\
 & + 2|\delta|^2|\beta_3|\sqrt{(2|\delta|^6+15|\delta|^4+12|\delta|^2+1)(1-\alpha)} - \lambda(1-|\delta|^2)^3,
 \end{aligned}$$

then we have $h(0) = -\lambda < 0$ and $h(1) = 2|\beta_3|\sqrt{30(1-\alpha)} \geq 0$. This means that there exists some δ_0 such that $h(|\delta_0|) = 0$ ($0 < |\delta_0| < 1$). This completes the proof of the theorem.

4. RADIUS PROBLEM FOR THE CLASS $\Sigma_\theta(\alpha, \beta)$

Lemma 4.1 *If $f(z) \in \Sigma_\theta(\alpha, \beta)$, then*

$$\sum_{n=1}^{\infty} (n(1+\beta) + \alpha + \beta) |a_n| \leq 1 - \alpha. \tag{11}$$

where $0 \leq \alpha < 1$ and $\beta \geq 0$.

Proof. Let $f(z) \in \Sigma_\theta(\alpha, \beta)$. Then, we have

$$\Re \left\{ -\frac{zf'(z)}{f(z)} \right\} > \beta \left| \frac{zf'(z)}{f(z)} + 1 \right| + \alpha$$

or, equivalently

$$\Re \left\{ -\frac{zf'(z)}{f(z)} \right\} > \frac{\alpha + \beta}{1 + \beta}$$

Now, using the same technique as in the proof of Lemma 3.1, we get the required result.

From Lemma 4.1, we have the following corollary.

Corollary 4.2 *If $f(z) \in \Sigma_\theta(\alpha, \beta)$, then*

$$|a_n| \leq \frac{1 - \alpha}{n(1 + \beta) + \alpha + \beta} \quad (n = 1, 2, \dots).$$

Remark 4.3 *If $f(z) \in \Sigma_\theta(\alpha, \beta)$, then*

$$\sum_{n=1}^{\infty} n |a_n| \leq \sum_{n=1}^{\infty} (n(1 + \beta) + \alpha + \beta) |a_n| \leq 1 - \alpha.$$

Applying Theorem 2.1 and Lemma 4.1 and using the same technique as in the proof of Theorem 3.4, we derive the following theorem.

Theorem 4.4 If $f(z) \in \Sigma_{\theta}(\alpha, \beta)$ and $\delta \in \mathbb{C}$ ($0 < |\delta| < 1$). Then the function $\delta f(\delta z) \in \mathfrak{M}(\beta_1, \beta_2, \beta_3; \lambda)$ for ($0 < |\delta| \leq |\delta_0(\lambda)|$), where $|\delta_0(\lambda)|$ is the smallest positive root of the equation

$$\begin{aligned} & \frac{|\delta|^2 |\beta_1|}{1 - |\delta|^2} \sqrt{1 - \alpha} + \frac{|\delta|^2 |\beta_2| \sqrt{2(|\delta|^2 + 2)}}{(1 - |\delta|^2)^2} \sqrt{1 - \alpha} \\ & + \frac{2|\delta|^2 |\beta_3| \sqrt{2|\delta|^6 + 15|\delta|^4 + 12|\delta|^2 + 1}}{(1 - |\delta|^2)^3} \sqrt{1 - \alpha} \\ & = \lambda. \end{aligned}$$

in $0 < |\delta| < 1$.

References

- [1] M.K. Aouf, *On a certain class of meromorphic univalent functions with positive coefficients*, Rend. Mat. Appl. (7) 11 (1991), 209- 219.
- [2] N.E. Cho, S.H. Lee, and S.Owa, *A class of meromorphic univalent functions with positive coefficients*, Kobe J. Math. 4 (1987), 43- 50.
- [3] J. Clunie, *On meromorphic schlicht functions*, J. London Math. Soc. 34 (1959),215-216.
- [4] B.A. Frasin, *Some properties of subclasses of subclasses of analytic functions*, Kyungpook Mathematical Journal (In press).
- [5] B.A. Frasin and S. Owa, *New extensions for classes of analytic functions in the punctured open unit disk*, Pan-American Mathematical Journal, Volume 22(2012), Number 4, 83-92.
- [6] J. Miller, *Convex meromorphic mappings and related functions*, Proc. Amer. Math. Soc. 25 (1970), 220-228.
- [7] Z. Nehari and E. Netanyahu, *On the coefficients of meromorphic schlicht functions*, Proc. Amer. Math. Soc. 8 (1957), 15-23.

- [8] C. Pommerenke, *On meromorphic starlike functions*, Pacific J. Math.13 (1963), 221-235.
- [9] C. Pommerenke, *Über einige Klassen meromorpher schlichter Funktionen*, Math. Zeitschr.78 (1962), 263-284.
- [10] W.C. Royster, *Meromorphic starlike multivalent functions*, Trans. Amer. Math.Soc.107 (1963), 300-308.
- [11] N. Uyanik and S. Owa, *New extension for classes of analytic functions associated with close-to-convex and starlike of order α* , Mathematical and Computer Modelling, Volume 54, Issues 1-2, 2011, 359-366.

B.A. Frasin
Department of Mathematics
Al al-Bayt University
Mafraq, Jordan.
email: *bafrasin@yahoo.com*